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Unit 4 Midterm Review Name: m_\))
'Whriting Equations of Lines- Answer the following questions below.

1. What kind of line has a slope equal to 0? \—\OF\MQ.\

2. What is the slope of a line that is vertical? UOQQMQ
3. What is the slope of the line x = 3? mdQ,G\rQ_d

4, What is the equation of the line with a slope equal to 0 and passes through the point

(-9,7)? \\ :*q_

5. Find the slope of the line that passes through the points (3, -4) and (5, 1).
6. Write the equation of the line in slope-intercept form that passes through the points

(3,-2)and (3, 4). 3

7. Write the equation of the line in point-slope form that passes through the points (5, -2)

e Yra=2 (%3 & Yr\= 2 (x-3)

o

Change y = —i—x—% to Standard Form.
9. Write the equation of the line in Standard Form that has a slope equal to 4 and passes

through the point (0, -9). L.\ X \\ __q
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10. Find the slope, point-slope form, slope-intercept form, y-intercept, Standard Form, and

the x - intercept for the line that passes through the points (4, -1) and (1, -2).

\/EZ>

U= C{g:(x—u\\

Slope

=Y2(X-\)
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Parallel and Perpendicular Lines- Write an equation for each of the following conditions.

13. Find the slope of the line that is parallel toy - 4 = 0.

=0

14. Parallel toy = 5x - 2, through (2, -1)

O\ =0L A3

15, Perpendicular toy = -3x + 7, through (3, 5)

W D= (X-D)
16. Parallel Tch__ 6\ C;( Trough o, 5)0(_ % “f?:) = 0\ (_X-C)w

17. Perpendicular to 8x -y = 1, through (4, 10)

O~\0= ) o \‘%X’“%

Parallel and Perpendicular Lines- Decide if the lines are parallel, perpendicular, or neither.

18, 2x= 5y-15cmd 2x + by = 10 19. 2x+y=2and 2x+y=5

=2 M3 -2 M=
M 5 S M=
po(n\\w\
Neivees
20.y=§—4andy=%x+2 2ly=x+b5andy=-x+5

pomm,\ DerONACNCL
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consecutive interior) or vertical angles.

) Z9and 211 05O A D

A

2) £3and 29 SCONZ -DOQ INN-35

3) £3and 212 Q). 1NV &S

4) 28 and £6 VPTYCON A9 / )

5) «8and 215 Q)Y. €3t XD
6) zdand 25 AL\ AD
7) 2z1and 27 Q. Q)G( A'S

Find the value of x and vy.
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Exercises 1-7
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